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English Version :

[Use a separate Answer Book for each group]
Group — A

1. Answer any four questions of the following: (4 x5)

3)
b)
c)
d)

What is 'proto-industrialization'?

Write a short note on Martin Luther.

Why did the issue of 'indulgence’ become crucial to the Reformation?

How far did emergence of scientific societies bring about a change in the institutional basis of
modern science?

e) Would you say that Elizabeth's church settlement was a compromise?
f) What role did "labour" play in Lock's idea of "property" in his second Treatise?
g) Write a short note on Glorious Revolution.
2. Answer any one question of the following: (1 % 20)
a) How did the British and the French replace the Spaniards as the leading commercial power in

b)

c)

a)
b)
c)
d)
€)
f)
9)

a)

b)

17th century Europe?

Would you agree with Geoffrey Elton that the English Reformation was primarily 'an act of the
state'?

How far was John Lock's assertion of the right of resistance a restatement of sixteenth century
radical Calvinism?

Group —B

Answer any four questions of the following : (4 x 5)

Write a short note on Tempo Reform.

Write a short note on 'Zaibatsu'.

Which changes were brought by Meiji rulers in the 'Chonin’ class?

Dou you think that Japan's constitution established an 'Oligarchy' system in Japan?
Write a short note on the Treaty of Shimonoseki.

Write a short note on Anglo-Japanese Alliance in 1902.

Write on military system of Japan in the period between 1932-1936 AD.

Answer any one question of the following : (1 x 20)

Comment on the political background of the creation of the Constitution of Japan. Did it
establish democracy?

How did the land reform of Meiji rulers accelerate the process of decline of feudalism in

Japan?

Discuss the background of the Washington Conference of 1921-1922. Was the conference able

to check the aggressive policy of Japan in the Pacific region? 10+10
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